Qn. Total
. Scoring Key Marks
No. adi Score
1 a) Full employment 1 1
2 |b) AC is minimum 1 1
3 Jol 1 1
4 |v) -10/20 1 1
5 |d) A few firms 1 1
6 |Price mechanmism, profit motivate with explanation 1#1 2
7 |Increase in demand, equilibriom price and quantity increases. 1#1 2
& |Micro — Income of the house hold, profit of a monopoly firm. 1+1 .
Macro — The policy of RBI, Calculation of GDP of a nation. -
9 | When rate of Interest 15 minimum speculative demand for Money is 1+1 -
mfinite such a situation 1s called Liquadity trap, with diagram. -
10 | Current account and Capital account._, It include 1n capital account. 1#1 2
11 1. Positive, 2. Negative, 3. Positive, 4 Negative Yo x4 5
12 | Output I to 5 — Relatively elastic, 6 to 8 — Unitary elastic, 2 .
9 — Relatively inelastic. =
13 |Large number of buyers and sellers. homogeneous product, freedom
of entry and exit, absence of transportation cost, price taker, perfect 14 x6
knowledge about market conditions. 3 %
-
<
14 |Exchange rate determined by market forces demand and supply in 114 et
the =
Foreign exchange market is called flexible exchange rate. 1% 3 ;
Exchange rate determined by Central bank 15 called fixed exchange A
rate -
3 ~
15 a) Itis the point Consumer can enjoy maximum satisfaction 1% *‘3
with his income 3 e
b) Budget line is tangent to indifference curve. DMRES = - 114
P1/P2




16

Human wants are unlimited, resources are limiied, resources have
alternative uses
What to produce 7, how to produce? For whom to produce?

1Y x 2

17

Monetary policy Reduce Increase money
mstruments money supply supply

Bank rate Increase Decrease

CRR Increase Decrease

Sell gov. Purchase govt.

Open market operation . . .
P P Security Security

1x3

18

Revenue deficit = Revenue expenditure — Revenue receipts
Fiscal deficit = Total expenditure — (Revenue receipts + non debt
creating capital receipts)

Primary deficit = fiscal deficit — Interest payments

19

Value of output = Price xquantity sold

Valuie added = value of added — value of intermediate
consumption

Open economy multiplier = 2, closed economy multiplier = 1 82
Closed economy multiplier is greater than open economy multiplier.
Ay =455

— = [

MR = MC, MC 1s non decreasing. With proper diagram

M1 =CU +DD, M2 =M1 + Savings bank deposits with post office
M3 = M1 + net tune deposits with commercial banks, M4 = M3 H
other deposits with post office savings bank organisations excluding
National saving certificates

M1 and M2 are narrow money, M3 and M4 are broad money.
M3 1s the aggregate monetary resources.

[

Distribution of gdp how uniform 1s 1t7
Non monetary exchanges.

Externalities
Gdp and harmful goods

[
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a) GDPmp = 4000, GNPmp = 4100, NNPfc =3825
b) Expenditure method.
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Profit | -5 -2

LA | -
]
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¥

b.Correct diagram

26 Divisions of Revenue budget and capital budget 5
27 |Prce ceiling with correct diagram.
5
28 a) Frve degrees of price elasticity. 5
b) Rice =0.75, wheat = 1.75 3
29 a) AP—10,11,12,12, 11,10,8.57,7 2 Y
b) MP — 10/, 12,14,12,7,5,0, -4 2 Z
c) Correct diagram. 2 :
d) Relationship between TP, AP and MP. ) =
ke
)
o
&
=
30 a) AD and AS 2 S
b) Y is the equilibrium income. 2 ﬁ
c) AD=3250 2
d) Economy is not in equilibrium. AD#AS 2
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